
&RSD�$UPDQGR�*RQ]DOH]�,EDxH]���$ODPDU
&$7������
)HFKDV
��������QRY�����

&LXGDG��3DtV
%DUUDQTXLOOD��&2/

3iJLQD�ZHE
ZZZ�FRXQWU\�FRP�FR

5DQN (VW� 3DtV %DQG 5RQGD��

�� $17 &2/ �68$5(=�:,//,$0

�� �%\H��

�� %2/ &2/ �52%/(6�(51(672

�� $7/ &2/ �&$59$-$/(6�(15,48(

�� $7/ &2/ �252=&2�('*$5

�� $7/ &2/ �0$5,1�-(686�(

�� $7/ &2/ �$<$/$�2�$1*(/

�� $7/ &2/ �9,//$�,9$1

�� $7/ &2/ �=8/8$*$�&$5/26�(

��� $7/ &2/ �3$/$&,2�1(/621

��� $7/ &2/ �$1$<$�0$85,&,2

��� $7/ &2/ �7255(6�-8$1�*�

��� %2* &2/ �-,0(1(=�',$=�$/9$52

��� $7/ &2/ �248(1'2�721<

��� $7/ &2/ �0277$�-8$1�&

��� %2/ &2/ �&$0$&+2�)(/,3(

&XDUWRV�GH�ILQDO

�68$5(=�:,//,$0

6HPLILQDOHV )LQDO *DQDGRU

� &DEH]DV�GH�VHULH � 5HVHUYDV 5HSODFLQJ �)HFKD�

�/DVW�'LUHFW�$FFHSWDQFH

�$VLVWHQWHV�DO�VRUWHR

�)LUPD

�:DOWHU�$��&DVWDxHGD


